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Name Date

5. Sam decided to measure the length of Line P in
squirrel footprints. He made an estimate and so
did his brother Josh.

| think Line P will be about 10 squirrel footprints
( because a squirrel’s footprint is smaller than an
elephant’s footprint.
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Sam

| think Line P will be about 24 squirrel footprints
because a squirrel’s footprint is smaller than an
elephant’s footprint. y A

Do you agree with Josh or Sam? Explain.

6. Decide if each statement “could be” or is “crazy.” Circle one.

Be ready to tell how you decided.

A. Sam estimated that the length of Line P to be about
6 squirrel footprints.

could be crazy

B. Sam and his brother measured the length of the same
room. Sam found the room was 8 elephant footprints
and Josh found the room was 32 deer footprints.

could be crazy

Tell how you decided.
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